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HISTORY

( Honours Core )
Paper : HIS-HC-5026

[ History of India (1780-1857) ]

Full Marks : 80
Time : 3 hours

The figures in the margin indicate full marks
for the questions

Answer either in English or in Assamese

'1. Answer the following questions : 1x10=10
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fa) Which Mughal emperor granted the
Royal Farman to the East India

Company in 1717?
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By which Act was English language
made medium of instruction in 1835?
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() Who gifted Bombay (Mumbai) as dowry
to the British?
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Who was proclaimed as the sup
r of the Revolt of 1857 by the
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leade
Sepoys?
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2. Answer the following questions in brief :
2x5=10
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Diwani? Who granted Diwani to

(@) What is
pany in 1765?

the East India Com
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3. Write
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Colt‘::te t_wo causes of the decline d
age industry during the rule of Ea$

India Company.
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() Judicial Reforms of Cornwallis
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(d) Utilitarianism
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(e) Deindustrialization
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() Wood’s Dispatch, 1854
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4. Answer any four of the following questions :
10x4=40
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(@) Discuss the causes of the Battle of
Plassey.
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(b) Give a critical assessment of the
Permanent gettlement in Bengal.
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(6)
: itish
| . st Policy of the Bri
Mmysot (P Discuss t;e i(;r61780—1857.
- i dia dun
(c) Trace the course of the Anglo g in In ‘
relation during the first two decades | savo-svea TR SARFe SRes fiftw
the nineteenth century. | Doz R e F41 |
SR R ojag o S 321
TR SRR rfizeten 1 | ‘o

) to:
(d) Analyze the circumstances leafi‘nlg
the COmmercialization of agrict
during the period of your study-.
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(e) Critically €Xamine the causes ‘:’f r‘;ulc
indebtedness during the colonial
in India.
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